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Add or Subtract. Write the polynomial in standard form. Identify the leading coefficient, degree, and number of

terms. Name the polynomial

1) 3x*—6x?+8)— (—=5x* + v = 10) 2) (—2x* 4+ 3x" = 3) + (4x? 4 3x? +12x°)

: \ X 3 1 ol '1‘) 7 | 1 pi
Standard Form: R \‘* _ ‘]) + ‘% Standard Form ‘l X /} x ) \ 15/( -5
Leading Coefficient: ¥ Leading Coefficient: \ ")
Degree: L,* Degree: (,7
Number of Terms: ) Number of Terms: '
Name: i . . Name: ) B o) 4 A%%
‘ auUariic frinomiok Guannc Pty

Identify the degree of the following monomials:

3)3x°y” M S 510 |[)

Expand the expressions. l X‘) f - XG \ Xb \X ) Xb
vV o_ - 4 5

6) (x—2)° f?) ))((: % - 1\%&% 7) (x+y)? 5 xE Y T XY

= ! 2 _ ’)- -

o i XL =rgox 3 X Y T2
X =10k +40°- HOx 80k 5 X 1% = % . \ ){é \f: Y

e (Gt |

Divide the following polynomials by the method of your choice.

8) (3x3 +9x2 _14)+(x+2)q 9) (15x3 —16x2 +x —2) + (x — 2)
-2 qQ 0 - 3 -~ —
23 b b 12 "j\\? Y ,}& 3!

Simplify the following radicals.

10) 2V=200
N

2 \Qo
1010

\dotﬁ)
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Simplify the following expressions.
13) (3 +4i)(1 —60)

3-\q1 rrFau?

= 80_,_-

Simplify using powers of i.
17) % — 3i18 — 10:*7

|-3(-D -10(—1)
| +% Y101

14) (5 — 12i) — 4(3 — i)

V-1 LL -\ A Y4

\ |- (/*‘\

gy 31, R | A+ +ADL IOV oL . WOV _ - it
4-2i MR lU\'CS,i/"K/L;UN// 6+5i m' 7)@;&%«()’1,}1’)'\%
24100

18) 2i13 4 4i*?

At+a-1)

For questions 21-24, write the EQUATION of a polynomial using the given roots.

19) Roots = =2 (mult of 2), —8

(X+DAEFDH D=0

(O Fibxr ) (x4 )= ©

20) Roots = 2, 3, 0 (mult of 2)
Y O-DWX3) =0
LD -0

+L"X1 Y ALK Fuxt¥agl=0

Ko 3x" , R S iad 2 St

21) Roots = %, -5

(¥ DD =V

2yt piok-un207Y

s

22) Roots =6, 4

(%) e =0
k]_,(o) L’A’L"\\o\ =0

- X L
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Determine the End Behavior of the following functions.

23) f(x) = x* —3x3 — 14x? + 12x + 40 24) f(x) = —x7 + 18x° — 81x?
Ao Xa-bo, FOX) = # NS X —bey £ L)) 0o
L po | |
25) f(x) = x5 —37x% + 24x? + 180x 26) f(x) = —x*+13x% — 36
As W= o, F ) 2w AS X 2m U077 W
Solve the following by FACTORING.
i
27) 4x3 —16x*—180x =0 28) 4x3ﬁ+ 4x% = —x 0540
(x> —ux -4 =0 W =0
4x (X-2) Xy =0 X (YUY D=0 \)’x Oy m*
(x> +orexd L 7

yx+D=0

p(UBI=DIVAS D,

29) x% +7x = —10 30) 10x3 + 2x% — 70x = 14
XD =0 10X > X 0% - 1%V
OXFaY )= o 72 (92 +\)Eex - 1)=0

=345 | HEX D) XD
au EDOx 1 =0
wt=0 "“))Hr \= O

Solve the following by THE QUADRATIC FORMUILA. XL’X"@ X=- ‘/6

31) x2—6x+7=0 32) 2x*+3x—-4=0
K= LENBH-4LHCN Y=~ 3i\\0|-qu)w):® 1)
LN b - 20D
= ENY_ LTI
ot (% b=t e i)

3Yx?4x+2=0 Y= — 1+ U :_\t\i_‘—r

20D
,\Tﬂ
2
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Solve the following variation problems.

34) The cost of packing boxes, c, varies inversely with the number of boxes, b, purchased. If c=50.85 when

b=50, determine the cost of packing 8 boxes. (\ - ,. ( U .;)_
%) 'S,
gc . ey
K : ,“/M) ( \(_,<)

7

L'—' U 5 \\ﬂ AR

35) Hooke's law states that the distance d that a spring is stretched by a hanging object varies directly as the mass
m of the object. If the distance is 30 cm when the mass is 6 kg, what is the distance when the mass is 8 kg?

ob= KN o= 5m
30 = k (o) =5%)
e Troon)

J

36) The cost ¢ of materials for a deck varies jointly with the width w and the length I. If ¢ = $470.40 when w = 12 and
I =16, find the cost when w = 10 and | = 25.

=345 w i
(= kwd C=a. -
40 4= kODUL) (- aﬂigﬁwﬁ
40 4= (1) =[50 220 |
1\

37) The time required to process a shipment of goods at Wal-Mart varies directly with the number of items in the

shipment and inversely with the number of workers assigned. If 15,000 items can be processed by 8 workers in
10 hours, then how long would it take 12 workers to process 20,000 items?

t=kL 10 = klisbood f= 2203%
W §

= .00S (200 UD)

$V = K (ISOVO)

k= .00% 2% %\/\ ( )
Simplify the following rational expressions and list the undefined values of each

1 10m-50  10m=>5) _ 10 2 2% —18x LX (=4 T
oA as I WeS) T MY T Pee-00 T G T Ao

(Mmias )™ EECC
N (oA (D) k-v) 5 102=90 o@D T 0

8k — e

) P S| PO

=2l
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Multiply or Divide the Rational Expressions.

(=27 (v D N
o 2 -2p-80 1 g B 1 1 el
7 9p*—90p%  9p° | E e I W |

@=prD) 4P [pii ]
ApF(R~T) l

e S I —

) - 2 R -y §
7 x+2é x+2 8) ‘f/—/3/ _l’"—8x+16 '1 Aa_f?;' ‘(
x+9 x*+7x+10 x-=Tix+28 x=3" AN J

Xtz (s e &;ﬁfwsﬂ O )

Xta Ty X+

( : )

(L D-5)
6\;2 ) v—10 10:} }"“— 1 i,~3,§f—‘
v+8 VvV +16v+64

OV ) (v
vy~ V-

LV (Vi)
V-10

9
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Choose the graph that represents the function. Determine the end behavior, y-intercept, and local max/min for each

function.

11) f(’() =—x*+ 37

.@ A B) A /\ ( \)) {\\ X > D(/‘)% (X\);)-M
qr ,: A X 0, ('(X\) 3 - Do
:‘ l
. ' (J \1/”'_(")‘())
Lo (-1 0 (L)

y Lyans

1

[ \
} LU

=Y

A+ ¢ sx ‘
Vo oy 00D
Lnax. (2,2)
4‘ LW (O."l\)
ML
F2 1) ¢ ﬁ
% : ) 5
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